A B U 22 # B B
IEEDEH INEH M SRR TE
H % B % BRERER
A 81T H S 4% 48 218
NN ERT&T ATE 20228%
1 A4S (ELA)
IE5ND| HBAL-EOBEXE | A # & 8 (B K &) o2 1325 F E fith EILEDHES A
£ 2| % # Z10 %20 mRE= (FiR=E) X (& % (BAH)
BX2i BEX
RETE T B 750,000
BEDIBE ARSt F—
REDAEE D S S — I TETHBED
RS MAIHBE B— 5. BREERENSHIA
KRR TR B— T REGTNDEEZIELT D,
ARSH RALBRE F—
RRIHEE BA —5h o
AEmaE oh 2 17170009 HRRH B
= (X TR EREHT y - T xXE BiEE
%331168 1,820,000 REIEGE T B 1,925,000
([(E&E LDIFEE]

1 TP EMEREIL ARBRIREDRETILH
2 TAHEEIZ AMLEDNRBEL L ZNFLERBCHER =0T TS
3 TEANEHIT ANESRBEL-ZHNFLELIED1000D10[CHLTEEBCHERAA D) TR




33116

2 e (M)
ZHOEMFEHD I # = i
208 R | BmEXEEHR| 2 E = IF%08F I ®F % & B R M ETESB S
U e 7 & = = % < & 0+ 5 & B B B
# A H # A H
AETEET EWEHE
[1¥%]30.63m
&) 3.22m
SH4gE4F258 1,925,000 SF1444H258 SH4ETASE  |BAH HBA A
r B % O I #H
EEZHA T E & & — I E% 0B FHR I = %5 % I k3 2 =]
& F 5 73
£ B A £ A H
AT 6.0t — 3.2t EREBEN LB LYRDLI-O ., ZVHRE
EHAR—K 28m3 — 1.0m3 18EEIEFEASICKYRATET S,
-233,200 BEBEM 76m3 —52m3 %
SH4E6H218
(1691800)
BARH BERE rF E #% O I #H
EERZHAE T E & & 5 = = P I EHE 0B MH T = % i3 % 3 b =2}
REIEHE EE SH £ B g £ B B
BEITSE
0
T B % 0 I #H
EEZHAE rE & E — IEH£E DA T = % L4 £ Ed b =2}
# F 5 154
£ A H £ AB H
0
T EBE #% O I # .
EEZHE T E & HE — I EH%E 0 Hm T - % i3 S = B =2}
& F 58 53
£ B 8 £ B H

[EE&HLDEE]

IEEREL. SPRHEEOBBBLRHL. ( NI ERROZNBERHT .



